= % x of et oA ARl A2?

@O x*=x?-2x @ 4x*=2(x-1)2+5
@ x*-2x? + 3 =2x3 - 2x? @ 2+1=(x+1)(x-1)

® x*-bx=x(x+7)



Oa S x = -2 7} 87} H o2 A A 2? (BH 2 7H)

® x(x+2)=0 @ x> +2x-3=0
® x>+6x+8=0 @ 2x2-x-1=0

® 2x24+4=0
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® (3x+

3) (- i) ® (3+) (1) =0
1)(dx—1) = @ (4x+1)(3x—1)=0
® (6x+2)(8x—2) =



4. IR £ - 20— 15=0 9 TL Fohu?

@ x=5x=-3 @ x=-5x=
® x=15 x=1 @ x=-3, x=-5

® x=-5 x=-3



oAYAHA 2(x+3)2-12=0 FEx=ax Vb AL T W, q, b
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@ a=-3,b=3 @ a=3,b=3

® a=-3,b=-3 @ a=-3,b=6

® a=3,b=6
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@ 12 ® 15 @ 18 ® 21
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@ x2-6x+9=0

DO x>-4x4+3=0

0

@ x2+10x+9

@ x2-10x=9

® 2x2-5x-3=0



8. OIAMIAHA 32 +6x-5=02 (x+p)? =q 2 & et o,
p+3q 9 w27

® 10 @ 9 ® 8 @ 7 ® 6






10. the BIIOIA o XA Fol A FRE 2 AL BE D2W?

@ (x-4)(x-4)=0
© x2-4x=0

® x*+9=06x

® 2x2 4+ 12x=-9

@ (x—1)(x+1)=12x%-5x

0.6 206 0006 ®6e 06,6
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11.

@ x2-2x-2=0

DO x*-4=0

@ x2+2x-4=0

@ 2+2x-2=0

® x*-4x4+2=0



2x2 4+ 6x+10=0
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